In the following 4 x 4 array you are required to place the symbols 1 to 4 so that each symbol occurs once in every row, once in every column and once in each for the 2 x 2 subsquare which are coloured green, blue, orange and purple.
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See below for a solution 
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Using the stated  method for finding a solution we proceed by taking each empty cell and write a list of possible symbols which can be placed in that empty cell. We build these lists by using the facts that each symbol can occur once in every row, once in every column and once in every 2 x 2 sub-square.  

 

For this square give above the list of possible symbols for the empty cells are shown in the array on the right. The dark coloured squares indicate that these cells have already been filled in.
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There are four cells for which there is only one possible insertions. So we proceed by updating our original square and updating our list of possible entries for the remaining cells. 
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There are now five cells for which there is only one possible insertions, which leads to  So we proceed by updating our original square and updating our list of possible entries for the remaining cells. 
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And finally the solution
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